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Q1

Q2
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SECTION-1 | GENERALAPTITUDE TEST |25 QUESTIONS

If in a code language, TABLE is written as
SYYHZ, how will CHAIR be written in the
same language?

(A) FBEXM

(B) BEFXM

(C) EBFMX

(D) BFXEM

1f+ implies—

— implies

= implies +

+implies +,

then select the option that gives the proper
sequence of signs that when filled in the gaps
of the given equation will correctly complete

the same.

61235 15=11

(A) +, =, +H %
(B) +, - %+
€) £.% =+
D) -+ + %

DO,

Ql

Q2

U e A % 9% TABLE #1 SYYHZ
ferar o &, o S0 e W 3 CHAIR
& T foran wg?

(A) FBEXM

(B) BEFXM

(C) EBFMX

(D) BFXEM

aft + % aef - B

= EUES

x 1 aef + &

-5 3 + &

M 99 fRew & ggs 1 foed el
o1 Sftie s Tt T & @ Ry g
Wiev @ sfeve # W O Ow weél @
W G w0

612335 15=11
(A) +, =+, %
B) +, =%+

(C) +, % =+
{D} ~ *, R

SERIES-D-H




Q3

Q5

Select the figure that is related to figure C in Q3
the same way as figure B is related to figure

Al
b o s
) B}

Iy

© 0
® |la o
© 0
®lee
o)
© |la @
o<
O | &
Identify the odd one from the given list. Q4

Ignore, Avoid, Recognise, Reject, Neglect,
Overlook, Overpass, Forget, Disregard
(A) Recognise

(B) Owverlook

(C) Overpass

(D) Disregard

Identify the odd one from the given list. Q5

Jaipur, Jodhpur, Jaisalmer, Chhatarpur,
Ajmer, Bikaner, Chittorgarh, Kota, Sikar,
Pushkar

(A) Jodhpur

(B) Chhatarpur

(C) Chittorgarh

(D) Pushkar
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v o] [09] [Fo
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©
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D)

Fefafaa =i & g 4 | = o
&1 T4 B |

G e, URER, UEEEA, SR,
I, s, affe—foarn, e, saga
(A) EarF

(B) ariae

(C) 3ffa—fourn

(D) I

Frfofaa i 7 9 fs & 95

TR, SR, GNIERR, BN, 3O,

(A) SrEqR
(B) BINIR
(C) faxireTe

)R
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Q7

The following diagram is the outcome of a
survey carried out for the number of
languages that can be spoken by the
employees in a particular department of a
company. Study the diagram and identify the
option that is NOT correct.

English Hindi

2
"/

Marathi

(A) The total number of employees who
responded to the survey was 54.

(B) 30employees can speak Hindi.

(C) 30 employees cannot speak Marathi.

(D) 23 employees can speak exactly two
languages.

Two positions of a dice are shown. If*17is

exactly opposite *5°, then which number will
be exactly opposite 27

P 7

(A) 3
® 4
© 5
D) 6

Q6 fr=fafem ama e o & fai fadw

frmr # wfefEl g @ 9R aE
Wt 1 we & fore fer Ty ade @
fons & | ARG T T W AW TN
ey &1 9 SN o a8

et &

oa
\ =7

HIMST

(A) \heor F§ w7 A AT SEaal
&l T 548

B) 30 Fiad B aa wwa &)

(©) 30 F¥arh 7o 78 da waa ¥

(D) 23 siard daa <1 wmad A wHA
(4

@ uie 3 Rl <aiE o8 € ol
s iRt rsar sds
fagdia @ der e

@
(A) 3
(B) 4

(C) 5
D) 6




Qs

Q9

John started from point A and walked 12 km
towards the east, turned left and walked
another 5 km to reach point B. George also
started from point A but walked 3 km
towards the south, turned left and walked
another 18 km to reach point B. What is the

shortest distance between points A and B? "

(A) 6km
(B) 8km
(C) 10km
(D) 14km

Given is a statement followed by two
conclusions. Identify which of the given
conclusions logically follow(s) from the
statement.

Statement:

During election period, politicians usually hurl
abuses at candidates of other parties and
some often make vulgar gestures too,

Conclusion:

I) Women and children should not be
allowed to attend election rallies.

II) Election Commission should issues a
strict code of conduct for all politicians.

(A) Only conclusion I follows.

(B) Only conclusion II follows.

(C) Eitherconclusion I or Il follows.
(D) Neither conclusion I nor II follows.

LM-D

Q8

Q9

wii fig A9 g B W vgem @ forg of
PV 3R 12 km Fewe 8, 3R v @t g
Y 5 km 3R woren &) oifw @ fig A9
fig B uv wg=rt & frq 3 km 3for 1 aiv
= €, v 1 R 78 oY 18 km afw
wer 8 | g AR B a0 ~pw gf
faah 82
(A) 6km
(B) 8km
(C) 10km
(D) 14km
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Q10 Select the option that is a valid assumption

Qil

for the following statement.

Statement:

Despite a clear warning from the doctor,
Ramesh, who is a diabetic patient, ate ice
cream at the wedding of his friend.

(A) The friend does not like Ramesh much.

(B) The doctor does not like ice cream.

(C) lcecream isnot good for Ramesh’s
health.

(D) Diabetes patients do not like doctors.

A statement and two courses of action are
given. Select the option that is a valid course
of action for the given statement.

Statement:

Due to the planned transport strike, there will
be a shortage of vegetables in the market and
also prices may go up.

Courses of Action:

I. Govemmentshould try to negotiate with
the transport association to cancel the
strike.

II. Shoppers must buy and store some
extra vegetables beforehand.

(A) Onlyaction |

(B) Onlyaction [l

(C) Bothactionsland Il
(D) NeitheractionInorll
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Q12 IfVisible :: Eyes, then Audible :- 2.

Identify what can come in place of *?°.
(A) Brain

(B) Nose

(C) Heart

(D) Ears

If Book :: Author, then Song :: 2.
Identify what can come in place of *?°.
(A) Script Writer

(B) Lyricist

(C) Director

(D) Producer

In a certain coded language, if COPPER is
written as C15P16E18 and SULFUR is
written as $21L.6U18, then how will the word
SODIUM be written?

(A) S15D9U21

(B) S19D4U21]

(C) S15D9U13

(D) SISD21M13

Pointing ata child performing on the stage, a
man in the audience said, “He is the brother
of the daughter of Shilpa, who is the
daughter-in-law of the mother-in-law of the
mother of my son.” If the man is NOT the
husband of Shilpa, how is he related to the
father of that child on the stage?

(A) Uncle

(B) Nephew

(C) Grandfather

(D) Brother

LM-D
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Q12 Ife g9+ arid, Y saviig 2 9|

| w6 wERes () & e R
T YT |

(A) wiasp

(B) &

(C) g=3

(D) FH

af? g o, a2
a5 yEfes () 3 wme w
T 37T |

(A) UETuT oEH

B) asr

(C) Friws

(D) e

U% fafine @ wmr 4, afe COPPER =1
C15P16E18 ferar wiman & aiv SULFUR
$1 S21L6U18 forar wmar & & we
SODIUM &t #% forar siga?

(A) S15D9U2I

(B) S19D4U2]

(C) SI5D9UI3

(D) S15D21M13

A9 W YENE 9% W e 99 9 3R
S &% gU vl 4 @ v afdm 3
@61, 98 Rrear ) o o1 i & | Rrew
W gA P A A e B Ay d A 9w
wfde Rrear @ oy 74 &, o 9ue wa

W ANE 7= @ far § 797 day &2
(A) =ren/ |/ Hrar
(B) i /s
(C) =m=r
(D) g
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Q16 Givenare four statements followed by four

Q17

conclusions. Assuming the statements to be
true even if they seem to be at variance with
commonly known facts, identify which
conclusion(s) definitely follow(s) from the
statements.

Statements:

1. Some cats bark.

2. Those who bark do not sleep.
3. Allelephants sleep.

4. Nocatisanelephant.

Conclusions:

I) Some catsdo not sleep.

) Some elephants bark.

IlT) Cats who bark are elephants.

IV) Elephants who do not bark are cats.

(A) Onlyconclusion I follows.

(B) Only conclusions | and 11 follow.
(C) Onlyconclusions Il and IV follow.
(D) Only conclusion IT1 follows.

Study the following series and identify what
can come in place of 7",

STEM, MFRY, VSDP, PEQY, YRCS,
SDPB, 7

(A) BPBU

(B) BNFO

(C) BQBV

(D) BQAW

LM-D
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WEMET (‘") @ WH W @ W ug
_ry?

STEM, MFRY, VSDP, PEQY, YRCS,
SDPB, ?

(A) BPBU

(B) BNFO

(C) BQBV

(D) BOAW
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QI8

Q19

Q20

Study the following series and identify what
can come in place of *?".

JAM24, LEK28, NII32, POG38, RUE44,
TAC24,?

(A) VAA26

(B) VEA28

(C) VEB30

(D) VEA32

Study the following series and identify what
can come in place of *7",

83,77, 68, 56,41,23, 7
(A) 2
B) 7
(©) 10
(D) 1

Read the following question and decide which
of the additional information given in the
options is required to answer it correctly.

The age of a father and his son is in the ratio
of 13 : 3. Ifthe age of the mother is 33 years,
what is the ratio of the age of the father to
that of the mother?

(A) Thedifference between the ages of the
father and the son is less than the age
of the mother.

(B) Theage of the father at the time of
marriage was 27 years.

(C) Theaverage age of the father and son
is more than the average age of the
mother and son.

(D) Theaverage age of the father and
mother on the son’s first birthday was

28 years.

LM-D
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CRGILE

forifarfre e @1 7 3w wma & &
weEfE (‘) WH W R WU
QY

JAM24, LEK28, NI132, POG38, RUE44,
TAC24,7

(A) VAA26

(B) VEA28

(C) VEB30

(D) VEA32

Frfofta sae #1 93 3t wma & &
yERE (7)) @ WHE W 9 9 6
TEIT?

83, 77, 68, 56, 41,23, 7
(A) 2
®) 7
(©) 10
(D) 1
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SERIES-D-H




Q21

Q22
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Read the following question and decide
which of the additional information given in
the options is required to answer it correctly.

A is taller than B, who is shorter than C,
Who is the tallest person among them?

(A) Cisnot the shortest person.

(B) B isnot the tallest person.

(C) Theaverage heightof Cand B is the
same as the height of A.

(D) Theaverage height of Aand B is less
than the height of C.

Read the following question and decide
which of the additional information given in
the options is required to answer it correctly.

A is the son of B, who is the husband of C.
D is the mother of E and wife of F, How is
B related to F?

(A) The mother of D is the mother-in-law
of C.

(B) A and E are cousins.

(C) Bistheuncleof E.

(D) Aisthenephew of D.

11
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Q23

Q24

Q25

LM-D

Read the following question and decide which
of the additional information given in the
options is required to answer it correctly.

Five students, A, B, C, D and E, are standing
ina queve such that A, Cand Eare NOT at ¢
the extremes. Who is standing at the first &
position in the queue?

(A) Eisahead of C but behind A.
(B) A isahead of C but behind D.
(C) Eisexactly in the centre.

(D) There are 3 students ahead of C.

Choose the odd one out.
(A) DVW

(B) GST

(© JPQ

(D) MNK

Select the term that can come in place of *7"in
the following series.

IBY, 6FV, 11J5, 16NP, ?

(A) 21QL
(B) 21QM
(C) 21RM
(D) 210N
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4 BTH A, B,C,D ¥R E, 1= e #
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(A) E.C¥ amt & aftm A9 18 8
B) A, CH ! & afa D& 98 ¥

(C) E faema wen 4 &)
D) C# art 3 o #)

Frafeflm # | s gg o 9g= FHifeg |
(A) DVW

(B) GST

© JPQ

(D) MNK

99 yT &1 9gq #ifey o FAefalea
si@en A yefe (7) & w0 W ame |

IBY, 6FV, 11JS, 16NP, ?
(A) 21QL
(B) 21QM

(©) 21RM
(D) 210N
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SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

Q26 Which state police has its motto as

Q27

Q28

‘Suraksha-Apki-Sankalp-Hamara'? It
means *Your Security Our Resolution’.

(A) Odisha Police

(B) Rajasthan Police

(C) Uttar Pradesh Police

(D) Haryana Police

In the mobile technology series of 3G, 4G
and 5G, what does the letter G stand for?
(A) Gap

(B) Gigabits

(C) Gateway
(D) Generation

Name the ex-South African player who is
currently the head coach of the Royal
Challengers Bangalore (RCB) cricket team
for the 2019 season.

(A) AB De Villiers

(B) GaryKirsten

(C) Adrian Dale

(D) HashimAmia

LM-D
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Q29

Q30

Q31

Indian Railway Minister Piyush Goyal has
announced a new railway zone to primarily
cater to Andhra Pradesh. What is the name
of this railway zone?

(A) Southern Coast Railway Zone

(B) Rayalseema Railway Zone

(C) Coromandal Coast Railway Zone

(D) Seemandhra Railway Zone

Ikhlas Khan's Roza (mausoleum) is situated
in which district of Uttar Pradesh?

(A) Meerut

(B) Saharanpur

(C) Jhansi

(D) Budaun

What is the full form of RFP, which is used
in the context of an RFP document in the IT
sector?

(A) Request for Proposal

(B) Request for Petition

(©) 'anuest for Process

(D) Register Formal Process
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Q32

Q34

Q35

Watson computer is a product of which of
the following companies?

(A) Microsoft

(B) IBM

(C) Google

(D) Dell

Kevin Systrom and Mike Krieger are the
founders of which of the following?

(A) WhatsApp

(B) Twitter

(C) Instagram

(D) Linkedin

Who among the following established the
Banaras Hindu University?

(A) Rabindranath Tagore

(B) Ganesh Shankar Vidyarthi

(C) Govind Ballabh Pant

(D) Madan Mohan Malviya

Where is the Bara Imambara monument
situated?

(A) Lucknow o
(B) Varanasi ;;
(C) Kanpur 3

(D) Prayagraj (Allahabad)

LM-D 15
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B) IBM

(€) Google

(D) Dell
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(C) Instagram
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Q36

Q37

Q38

Q39

Who among the following was popularly
referred to as the Sher-e-Ballia?

(A) BhagatSingh

(B) Chandrasekar Azad

(C) Chittu Pandey

(D) Mangal Pandey

Who was the Samajwadi Party (SP)
Rajnath Singh in Lok Sabha Elections 20197
(A) Suresh Bansal

(B) PurviVerma

(C) Usha Verma

(D) Poonam Sinha

The Parichha Dam in the state of Uttar
Pradesh is built across which river?

(A) Sharda

(B) Chambal

(C) Betwa

(D) Ghaghara

Uttar Pradesh was earlier known as United
Provinces. In which year was it named as
Uttar Pradesh?

(A) 1947

(B) 1951

(C) 1950

(D) 1948

LM-D

16

Q36

Q37
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(C) 1950
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Q40

Q42

Q43

Who was the first Governor of Uttar
Pradesh after it got renamed as Uttar
Pradesh from United Provinces?

(A) Varshagini Venkata Giri

(B) Hormasji Peroshaw Mody

(C) Biswanath Das

(D) AkbarAli Khan

In which year did the first large-scale mutiny
by Indian soldiers against the British, the
Vellore Mutiny, take place?

(A) 1812

(B) 1800

(C) 1806

(D) 1813

In which year did East India Company sign
the First Treaty of Amritsar with Ranjit
Singh?

(A) 1800

B) 1805

(C) 1806

(D) 1809

The Brahmo Samaj was established in 1828
by:

(A) RajaRam Mohan Roy

(B) Swami Dayanand Saraswati

(C) Keshab Chandra Sen

(D) Swami Vivekananda

LM-D
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Q44

Q45

Q46

Q47

In which year did the first passenger train in
India run from Bombay (now Chattrapati
Shivaji Maharaj Terminus) to Thane?

(A) 1835

(B) 1825

(C) 1853

(D) 1840

In which of the following locations was the
first post office in India established by the
British East India Company in 17647

(A) Hikkim

(B) Pune

(C) Madras (now Chennai)

(D) Bombay (now Mumbai)

Morley-Minto Reforms, formulated by John
Morley, were enacted in which of the
following years?

(A) 1909

(B) 1920

(C) 1895

D) 1897

Who was the first person to address
Mahatma Gandhi as the ‘Father of the
Nation'?

(A) Sardar Patel

(B) Jawaharlal Nehru

(C) Subhas Chandra Bose

(D) Lala Lajpat Rai

LM-D
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Q47
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Q48

Q49

Q50

Q51

In which state is the Eravikulam National
Park situated?

(A) Kamataka

(B) Assam

(C) Kerala

(D) Andhra Pradesh

Which of the following is NOT abiotic?
(A) Water

(B) Soil

(C) Air

(D) Fungi

As of 2014, which country is the leading
producer of tin in the world?

(A) China

(B) Brazil

(C) Malaysia

(D) Vietnam

Q48

Q49

Q50

In which district of Tamil Naduisoneofthe 5 Q51

oldest dams, Grand Anicut, also known as

Kallanai, located?
(A) Madursi

(B) Tiruchirappell
(C) Erode

(D) Coimbatore

LM-D
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Q52 As of 2012, which country is the largest

Q53

Q54

Q55

producer of bauxite in the world?
(A) Brazl

(B) India

(C) Australia

(D) Indonesia

Evd

Q52

Whichof the following riversisalsoknown § Q53

as Uttara Pinakini?
(A) Cauvery

(B) Brahmani
(C) Vhigai

(D) Pennar

The culture or cultivation of grapes is called:
(A) Viticulture

(B) Pisciculture

(C) Sericulture

(D) Horticulture

Khadar and Bhangar are types of which of
the following soils?

(A) Black

(B) Alhuvial

(C) Red

(D) Laterite

LM-D
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Q56

Q57

Q58

In which country is the Tanami Desert
located?

(A) China

(B) SouthAfrica

(C) Australia

(D) India

As of March 2019, how many fundamental
duties are there in the Indian constitution?
(A) 6
B 7
© 9
o) 11

India has signed an Mol in April 2019 with
the National Bank for Agriculture and Rural
Development Consultancy Service
(NABCONS) for setting up the India-Africa
Institute of Agriculture and Rural
Development (IAIARD) in which country?
(A) Zambia

(B) Malawi

(C) Tanzania

(D) Kenya

LM-D
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Q59 1In2018-19, for the second successive year,

Q61

which state has been ranked first in e-leaming
training programme of the Department of
Personal and Training (DoPT) of the
Government of India?

(A) TamilNadu

(B) Kamataka

(C) Telangana
(D) Kerala

Uttar Pradesh Diwas is celebrated on which
of the following dates?

(A) 25*March

(B) 2%April

(C) 10*April

(D) 24* January

As of March 2019, which is the third-largest
bank in India?

(A) Indian Bank

(B) Bank of Baroda

(C) ICICIBank

(D) CanaraBank

LM-D
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062 Reliance Mutual Fund has partnered with
which of the following companies to launch

voice-based financial transactions?
(A) IBM

(B) Accenture

(C) Google

(D) Infosys

Q63 As of March 2019, what is common to

these four countries — South Sudan, Libya,

Yemen and Greece?
(A) Allare African countries

(B) Allare monarchies

(C) Allare Mediterranean countries
(D) Allofthem have had an average

10-year negative economic growth

Q64 In April 2019, Reliance Jio acquired the
chatbot-making startup firm Haptik for:

(A) T 700 crore
(B) T 500 crore
(C) T 600 crore

(D) T 400 crore

LM-D

Q62 Ramiw wEye ws A frefafea § &
frm @il & W amare-smaRa
e g o B fag wEed @ 8
(A) IBM

(B) Accenture
(C) Google
(D) Infosys
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Q65

Q67

International Centre for Automotive
Technology (ICAT) is scheduled to organise
NuGen Mobility Summit 2019 in November
at which of the following locations?

(A) Mumbai

(B) Manesar

(C) Bengaluru

(D) Chennai

Which of the following companies owns the
video app TikTok?

(A) OpenXcel

(B) Consagous Technologies

(C) ByteDance

(D) RipenApps

In April 2019, the UAE honoured who
among the following with the prestigious
Zayed Medal for giving a big boost to
bilateral strategic ties?

(A) Imran Khan

(B) Theresa May

(C) Emmanuel Macron

(D) Narendra Modi

LM-D
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Q68 Whoamong the following has become the

Q70

first transgender election ambassador in
India?

(A) Gauri Sawant

(B) Sathyasri Sharmila

(C) Joyita Mondal

(D) Prithika Yashini

As of April 2019, which country holds the
top spot in the latest FIFA world football
rankings?

(A) England

® Begim

(C) Gemmany

(D) Austria

Asof April 2019, who is the President of the
Confederation of Indian Industry (CIT)?
(A) Kumar Mangalam Birla

(B) Ashok Hinduja

(C) Vikram Kirloskar
(D) RajivBajaj

T410T6E28
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Q71 AsofApril 2019, who is the Chancellor of

Q72

Q73

Tamil Nadu Agricultural University (TNAU)?
(A) Trilochan Mohapatra
(B) Ajay Kumar Singh

(C) Sachin Wadhwa

(D) Banwarilal Purohit

As of July 2019, who is the Union Minister
for Agriculture and Farmers Welfare?

(A) Narendra Singh Tomar

(B) HarshVardhan

(C) AnantGeete

(D) RadhaMohan Singh

Which ofthe following countries is the largest
producer of wheat in the world?

(A) France

(B) China

(C) Australia

(D) Canada

LM-D
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Q74 The Keetham Lake and Sur Sarovar Bird

Q75

Sanctuary are located near which of these
cities?

(A) Jhansi

(B) Kanpur

(C) Lucknow

(D) Agra .

Which city of India is home to the famous
Falaknuma Palace?

(A) Jhansi

(B) Gwalior

(C) Jaipur

(D) Hyderabad

LM-D
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Q76

Q77

Q78

Q79

SECTION-3 | GENERAL SCIENCE / ARITHMETIC | 530 QUESTIONS

If2* 5% endsin 5, then the value of x is:
A 1

B) 0

(©) 2

(D) Novalueofx

The LCM of'two co-primes ( gand b ) is:
(A) a-b

B) a+b

©) alb

D) ab

The difference between a number and the
two-fourth of that number is 60. What is the
number?
(A) 120
®) 125
© 130
©) 160

IfA:B=3:7andB:C=7:9,thenA:C
is equal to:
(A) 3:7
B) 2:3
(©) 3:1
D 1:3

T435T62R
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Q77

Q78
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A 25 FIATHASEME MxH
A1 T g m?

(A) 1

®) 0

(€) 2

(D) x &1 $Ig 7 76l 81
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(A) a-b

B) atb
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(B) 125

(C) 130
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(A) 3:7
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© 3:1

D) 1:3
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Q80 X takes 8 hours to complete a task. Y takes

Q81

Q82

Q83

12 hours to complete the same task. How
long would it take both X and Y, working
together but independently, to complete the
same task?
(A) 4days

®) 475 days

(©) 4%6»':
(D) 5days

Find the area of a square whose diagonal is
10m long.
(A) 10m?
(B) 50m*
(C) 100m*
@) 110m?

Solve the following.

(I - sin’g) sec’g =
(A) 0

®) 1

(©) sing

(D) cosg

Find the range of the following data.

32, 45, 16, 28, 69, 34, 29,54, 48
(A) 16
B) 44
(C) 53
D) 54
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(1 - sin*g) sec’g =
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®) 1

(C) sing

(D) cosg

Frefafan eer &t I wa &)

32,45, 16, 28, 69, 34, 29,54, 48
(A) 16
(B) 44
(C) 53
D) 54
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Q85

Q86

Q88

LM-D

What was the name of the first spacecraft
lsunched by India in 19757

(A) Bhaskar

(B) Aryabhata

(C) APPLE

(D) Rohini

Whatis the total route length of the proposed
Bastern Dedicated Freight Corridor?

(A) 1556km

B) 1656km

(C) 1756km

(D) 1856km

Which of the following missiles developed
by DRDO is an air-to-air missile?

(A) Prahar

(B) Shaurya

(C) Astra

(D) Prithvilll

Deficiency of which vitamin causes rickets?
(A) VitaminD
(B) VitaminB
(C) VitaminE
D) ViaminA

Which of the following diseases occurs due
to the deficiency of proteins?
(A) Goitre

(B) Kwashiorkor

(C) Anaemia

(D) Bronchiti

ETnrtyrs
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Q89 Whichof'the following diseases can be cured

Q92

Q93

by increasing intake of citrus fruits?
(A) Pellagra

(B) Blindness

(C) Scurvy

(D) Osteoporosis

Which of the following statements is TRUE

about the process of evaporation?

(A) Liquid state is changed to solid state.

(B) Gaseous state is changed to liquid state.

(C) Solid state is changed to liquid state.

(D) Liquid state is changed to gaseous
state.

Which of the following has resulted in the

deterioration of water quality?

(A) Improper disposal of sewage

(B) Deforestation

(C) Incorrect distribution of water
resources

(D) Overpopulation

The SI unit of stress is:
(A) joule

(B) pascal

(C) wolt

(D) watt

Name the instrument used to measure
absorbed or evolved heat.

(A) Ceilometer

(B) Colorimeter

(C) Calorimeter

(D) Clinometer
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Q95

Q97

LM-D

Name the force that binds protons and
neutrons in a nucleus.

(A) Electromagnetic force

(B) Weak nuclear force

(C) Gravitational force

(D) Strong nuclear force

(A) isotopes
(B) isobars
(C) isomers

(D) isochors

Which of the following gases is necessary
for combustion?

(A) Hydrogen

(B) Carbon manoxide

(C) Oxygen
(D) Methane

Which of these values represents pH of an
alkaline solution?

(A) 5

®) 2

(€ 10

D) 3

' FacTawas T
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Q98

Q99

Which of these is sonorous?
(A) Wood

(B) Water

(C) Rubber

(D) Iron

Select the water-soluble vitamin among the
following.

(A) VitaminsC

(B) VitaminK

(C) ViaminD

(D) VitaminA

(100 Rimjhim’s physician advises her to avoid

Q101

consuming a diet high in saturated fats. If
Rimjhim does not follow her doctor's
advice, she can be at a risk of:

(A) kidney disease

(B) cardiovasculardisease

(C) ansemia

(D) pancreatic disorder

Which of the following is a major source of
phosphorus?

(A) Potato

(B) Amia

(C) Orange

(D) Mik

LM-D

Q98 Fr=fafeam % 9 2= @ e va anfae
(sonorous) 95 87
(A) FHE
B)
(€) T
(D) wer

Q99 Freifafta 39 @ w e o # gt
fefas &2
(A) feffmcC
(B) R K
(C) famfmD
(D) fAefi=aA

TMTEsE2

Q100 Fmfdm & fafecas - 99 wHgw &
(e de) aret Ao @t afte da A
& O waw € §) afe Rafdm am
faftsens o wome &1 wre 1l B B,
o o9 fFrafafa ¥ | ee o 8
@ 87
(A) % o T
(B) &%a I
(C) Temewa
(D) ar=ura (fFafes) fer

Q101 Fr=ifeifae % & ®i9 w1 BiepIy &1 1@
W@ W &7
(A) 3
(B) affaa
(©) W
D)

13 SERIES-D-H




Q102 What is the false feet with which amoeba
ingests its food called?

(A) Axopodia

(B) Pseudopodia

(C) Filopodia

(D) Reticulopodia

Q103 In our body, where does 90% of our total

nutrient and mineral absorption take place?
(A) Kidney

(B) Large intestine

(C) Stomach

(D) Small intestine

Q104 Which among the following is referred to as

nearsightedness?
(A) Hypermetropia
(B) Hyperopia
(C) Myopia

(D) Astigmatism

Q105 Whodiscovered the X-rays?

(A) GalileoGalilei
(B) JJIThomson

(C) EdwinHubble
(D) WK Roentgen

34
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Q102 f=feifan A & 317 & @ e (false

feet) & Forrst avftan arg v &1 Froraan
87

(A) geEITEm

(B) wgEmfEal

(C) fremifem

(D) “femefear

Q103 R MK #, N [ UM @ R

| s &1 90% e w8 e
87

(A) 775

(B) @<

(C) smEE

(D) B Ffa

Q104 Fr=fofm # | 5 Frase gfedm &

WY ¥ W war #7

(A) ERTTIfta
(B) ®EUIt
(C) =wmfar

(D) R

Q105 Ta— 0 @9 e & o7

(A) Moot Aferah
(B) ool eif as
(C) Yeft= saat
(D) s, . e
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Q106 What is the SI unit of time?
(A) Hour
(B) Second
(C) Minute
(D) Millisecond

Q107 Proteinsareoncofthe _ nutrients
that provide calories.
(A) four
(B) three
(C) two
(D) five

Q108 is also known as cobalamin.
(A) ViaminB12
(B) Vitamin BS
(C) Vitamin B7
(D) Vitamin B9

(109 The greatest number that divides 59 and 54
with remainders 3 and 5 respectively is:
(A) 7
(B) 3
(C) 5
D) 8

[. LM-D
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Q106 W @ S gwg Fur 87
(A) wET
(B) W&
(©) fre
D) frefss

Q107 WéH, tiee el f @ U R
o dEdt waE S #
(A) R
®) o
€) &
D) i

Q108 Fr=fafam # 9 59 smafs & am |
A W G 87
(A) fefmBI2
(B) fR@f=Bs
(C) faeify= B7
(D) R B

TATEISRD

Q109 @8 wa¥ & Wy w W & A 59
3w 54 & o &1 W wer 3alw S
o g &7
(A) 7
B) 3
© 5
D) 8

SERIES-D-H




Q110 Ifthe volume of a hemisphere is 18 7 cm’,

then the total surface area of the hemisphere

-

(A) 277 cm?
(B) 18x cm?
(C) 24 x cm?
(D) 21 7 em?

Ql111 Let‘a’and ‘b" be two numbers. The HCF
of ‘a’ and ‘b’ is 4 and the LCM of *a’ and
‘b" is 400. Then, the number of the pairs of
values ‘a’ and ‘b’ can assume is:
(A) 3
B) 4
€ 2
D) 1

Q112 Tap A and B can fill an empty tank in 30
minutes and 60 minutes respectively. Tap C
can empty the full tank in 45 minutes. [fall
the three taps are opened together, then the
time required to fill the empty tank will be:
(A) 18 minutes
(B) 36minutes
(C) 24 minutes
(D) 30minutes

Q113 A and B can complete a task in 60 days and
90 days respectively. With the help of C, they
completed the task in 20 days. If their total
eaming is ¥ 36,000, then considering that
their eamings are in proportion to their work,
the share of C will be:
(A) T 16,000
(B) T 13,600
(C) T 15,400
(D) T 14,800

LM-D
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Q110 afe va ard e &1 T 187 em’ R,

Q111

W 99 A M B BA GoE SHG
fseen Brm?
(A) 27 x ocm?
B) 185 cm’
(©) 24x cm?
D) 21z em?

A o ‘2’ 3w ‘b ) Hend &) e’ dlw b
& WETH WaMad® 4 ® o agem
HAgads 400 8| o ‘a’ AR D' @ TP
o T T A B Tl &7
(A) 3

(B) 4

(€) 2

D) 1

Q112 7@ A 3R B % Wil 23 & Ha 30

36

firre afiv 60 fvie % W= waa & 7@ C
@ 99 g4 < B 45 fme F W
wahar 8 | af A1 79 U e Ee o
g o @l 2 @ W | feeen
e

(A) 18 fi=e

B) 36 e

(C) 24 e

(D) 30 fiFe

Q113 A 3w B &l ord &) w60 241 ol

90 f2=i % ym1 ¢ wana § 1 C A wern
¥, I8 gu @ 3 20 R A gu oaw
feran| afy a5 e s T 36,000 8,
ar g% T g % o9 I wed am
& Iqum A &, C @ e fsaen g
(A) T 16,000
(B) T 13,600
(C) 215,400
(D) T 14,800
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Q114 Shilpa travelled ata speed of 20 km/h for 3
hours and an equal distance further at a
speed of 15 km/h. The average speed of
Shilpa (in kmvh) is:

1
(A) ”5

’ (B) l?%

|
(C) Iﬁ_i

1
D) 163

Q115 In APOR,20=90°. A, B and C are the
midpointsof PQ, OR and PR respectively.
Then, which of the following statements is
TRUE?

(A) P A, Band C are concyclic points
(B) R, B, A and C are concyclic points
(C) Q. A4, Cand B areconcyclic points
(D) All ofthe given options

Q116 If @ is the measure of an angle which is
equal to its complement and §° is the
measure of an angle which is equal to its

mppimml,ﬂmna—is:
i

(A) 3

B) 1

© 2
D) 0.5

LM-D
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Q114 frem A 3 wiel & forg 20 kmvh @t 7fSY &
afe st @ 3R g F715 km/h @) TR
A o | frear & a1 (kvh
¥) W W

1
(A) ITE

|
B) IT;

" 161
(©) 165

|
@) 163

Q115 APQR % £0=90° &1 A, B3R C v
PO.OR ¥R PR @ W fig ¥ @
Frafafaa & ¥ 9 W @u= @ 87
(A) P.A, B3R Cuagem fig &

®) R B A 3R C g fig

(C) O A, C3lr By fig &
(D) faw 1y Wi Awe

Ql16 AR o° F T T AW B G T
TS B WY § AR PO DV B
wy & o 3HS RS @ WA & W

o
G g &

(A) 3
B 1
© 2
D) 0.5
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Q117 Ramesh sold a box at 10% profit to Suresh.

Suresh sold it to Ganesh at 20% profit. If
Suresh's profit is ¥ 44, then the cost price of
the box for Ramesh is:

(A) T 200

(B) T 150

(€) T 100

(D) T 250

Q118 Mahesh had x number of trees in the year

2011. Every year, due to new plantation, the
number increased by 10%. In which year will
the number of trees become at least 50%
more than that in 2011, for the first time?
(A) 2017

(B) 2016

(C) 2015

(D) 2014

Q119 A money amounts to ¥ 4,200 in 3 years and

to ¥ 6,000 in 6 years at simple interest. The
rate of interest is:

(A) 20%

B 12 % %

(C) 30%

(D) 25%

Q120 For the first 567 natural numbers, the

arithmetic mean will be:
(A) 283.5

(B) 284

(C) 284.5

D) 283

(=Tt e T
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Q17 T 3 U 431 10% T ¢ G )

a9 | YW A T 20% BT G T )
a9 faan) af gyw A T 44 3 @ afdha
far o vhwr @ fog 39 390 @1 @w
o faeen &7

(A) T 200

(B) T 150

(C) T 100
(D) T 250

Q118 af 2011 # WY & U x V2 | RS

94, A R & HRO, §H wWea i
10% @t g & o 81 o uwel am
f o # 2011 &t e # TS ) wen
T | T 50% A B wed?

(A) 2017

(B) 2016

(C) 2015

(D) 2014

Q119 v gwfd |mRY &2 3w uv 3 af o

4,200 3fw 6 af % T 6,000 &Y W B
o ¥ gy et &7
(A) 20%

I
®) 125 %
(C) 30%
D) 25%

Q120 W&l 567 Wipfw Wil &1 wH

Hre faesn g
(A) 283.5

(B) 284
(C) 2845

(D) 283
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Q121 A cone has its base radius as 7 cm and slant
height as 25 em. The volume of the cone
will be:

(A) 1232 em’
(B) 3696cm’
(C) 1864 cm’
(D) 2464 cm’

Q122 Qut the following numbers, which one is
NOT a perfiect square?
(A) 3136
(B) 12544
(C) 1296
(D) 23832

Q123 Thedecimal expression for 8 rupees 8 paise
(S
(A) 88.0
(B) 8.008
(C) 8.08
(D) 8.8

Q124 In the product of the first 35 even natural
numbers, the digit at the ten’s place is:
(A) 2

B) 6
(C) 5

D) 0

Q125 Outofthe following, which is the greatest?

(A) {49)31
B 7

© (2401

1

1Y
(D) [m]
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QI21 W& i B e @ B 7 om AR
el garg (vie #ge) 25 em B wE
1 araeE a8

(A) 1232¢m?
(B) 3696 cm’
(C) 1864cm’
(D) 2464 cm®

Q122 Fr=faftn w4 | @ @ d@en
vE qof o sl 87
(A) 3136
(B) 12544
(C) 1296
(D) 23832

Q123 8 vyl § 49 Fr Twi & foy TwEm
sfvafd s g9i?
(A) 88.0
(B) 8.008
(C) 8.08
(D) 88

Q124 Uel 35 1 Wiplos HEARl @ TOFTE
#, TEd @ WE W A W A
(A) 2
B) 6
(€) 5
@) 0

Q125 fr=fafl 4 & = @ dWem a9 @
.54

(A) (49};
® 7

© @aon*
o (o)
(D) ;4—'3']
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Q126

Q127

Q128

QI29
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SECTION-4| GENERAL HINDI | 25 QUESTIONS

FreferfRe 4 & @ o vemr Trmef & ¢
o @ :
(A) e & ard

(B) = FEHwA™

(C) wwrfoar

(D) Tm=T e

8wt A T @ dae a2 &
(A) R g

(B) <t wwgAR

(C) somiware R

(D) wwiae o

Fedl' At Rw s @ Rafa gd
&

(A) wrTeh

(B) & ArTeh

(C) iR

(D) 93

JedRT R B Wit @ e o
# forar mar?
(A) anferer
(B) wireE
(€) =

(D) aygFe o
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=t omerd a1 s difore
3R 1 Ry 7 ww (ve w130 -
132) & 9w 4|

3 Wt 1 wepfdr s weE ot &l
R, gultom a1 g w0 af v
& o v w9 A T v, R
o1 Rftr W ¥, afw w1 9 i wva
q TR WU H| o ofd W gey
TP T i # A g &, Wit
THS IR BT BRYT AT W G
81, afews fovwmsad grr wffea aramr
81 W dTA WEeH WA wE @
HIH—HaR, Favalgy Juat @ TR,
PR g ol s g
AR @ @ el B F & A R
r wrferg #) g woer o daw
georrafen figsfda wweam mgaons,
e fre Pffires @ g s
@ R Y @ 9 g DevheRe
& dra et v ) Rremeran, waren
IR RftEm & @ o gea @ R oo
o & 3wl & W= wigw W
WS e | wgpfa & WY, R
HE TOR B Wl B @ e avi g
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Q130

Q131
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arefe, Fiferem, wafy genfR wivga
@ urdiE Sl # e # | Rod @t @
&gl A qeos e A o afeRR
WIpfe IRl @1 HET-HA Tew
daa A AN gie F fvar &) waw
oA | aig-aga Wit foser R
2, 78 wgpfa o iy wufnfy & da
Bl |

SRy e @ forg afte fides gammy
(A) Wl @1 W

(B) ®fa 3w uspfey

(C) wear &4

D) wepfey 1 e

TR T B HMR W TEe 6

Uia & HERY, JFHERY T YR $

W1 B TG S JO B TEl A

fred &2

(A) Wi vaer A

(B) Hao® Tu

(C) fMoa @ @ =gl 4

(D) s, wiferer, v gefe
wepa @ wrde wfgl i

FAsaAF
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Q132 TYdE Y o GEYOT HIFHT |

(A) w2 F2 & §3g WP @ Wi
wal 7 dF gar 8 e Swd
HNT BT SROT AT EH GEAA
78, afew fovareed g wiafiea
R 21

(B) Wt dae Hoomraien gt
WEHAM Wgetond, Jeda e
firRfirae & g sawaa @ hik
M F 6 g deviEie @
dra Rftaad sy @ R,
wayen aiw fafteer & & s+ gey
@ foe @5 e & 3 o €
el WGP A1 Aged T8 |

(C) wofa & 21 4 & & Hav, T
w3 | v Ffa & gy <l A
v 2| fag o wofy & awd
digd @1 wga eEr Swa
AT 1 IgUIeT BT T
T4, 98 B 81 8 | Wl @ w=)
i &1 e wega @ W st
A frem &) vag o=t § Iwe
Hitee i g 21

(D) fed @ @ ofal 3 Jeos W
A o sfeew T Twgelt &1
FTT-HAT Tl DA SAGA B
gfie & fsmr 21 weg w=m A
rs-aga witere fammr s 8,
% wga 3w R &
w8 |
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Q133

Q134

Q135
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e & G et 1 6 aef g7
(A) foega 39
®) feamEd avh

(C) Tom sy
(D) To w9

T 76 B BT A Jen Iquieifa g
% F @ fay weEmeEns 9
foran | sww us o= faw oot % ag?
(A) Fs=or 9=

(B) T 4R

(C) =mEaa®s 93

) =mR® 3

srfea kw4 afEd & T
5 wm= @ amgr?

(A) =& TR ain

(B) - T IR

(€) TR TR 3R

(D) & TE KN
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Q136

Q137

Q138

Q139

& wt @1 wffero 5@ o @ s
@ e o¥ faar anen @ o Frefoft
# | P Ng gED sicda T s
(A) 3T FR
(B) 7 w

(C) 9¥™ R

D) foga ww

fr=fafaa % & oftds af @ @ 87
(A) ™
®) @
©)

D) =

e we d #5 a Suwd 8
(A) W
®) ufy
C) &
D) &=

Vo5 v A P wr ueag 87
(A) ¥
B) @
(©) @
@) @
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Q140

Ql41

Q142
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W B T aga gy < &) - g
4 YaEifea we e Rk 1 gamm
.54

(A) TorErE

(B) wemEEs

(C) s

(D) yR=rEES

a Fel @ fvar v s S e
et e ¥ wger g & o geeh s
a1 SEar 87

(A) wWerEs fi

(B) e fvar

©) et R

O) Ffes s

Frefafe 3 @ @ W SR
gafaardt 8l &7

(A) T5F

B) et

(C) Sg&
(D) Sfremar
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Q143 Freiferfrer % % @ wr vt Retm—gm

Q144

Q145

=8 ¥

(A) WRTAR-gUE
®) wi-fww

(C) wwelw—farnd
(D) wwfe—afie

e worht & gofog A W
wEd & I-Raw wie # Freafofin 4 9
B W QT

(A) wfor

@) v

(Cy ot

(D) ol

TE B GRS A A Y- At @
fo v we Frerfofee & @ @ g
(A) TEwwm

(B) W

(C) Tt

(D) wew™
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Q146

Q147

Q148
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fFrferfae # & @ ur v EfeiT 87
(A) HEu™

B) =

(C) ®m

(D) e

T A T O 9T g o |~ e
R & a 87

(A) IS

(B) wehcrarad®

(C) wewara®

(D) TOEED

fp=ferfae # @ @ w aea age 87 ;_{

(A) |FT T SS fog aned e
B) T v A R IS A arh #)
(C) & 3T i Faa gf sfew &1
@) # sy Te H amn §

Q149

Q150

‘g 9 e @ forg sfem gemw 97

(A) UFHT =EA
(B) a4 FEl
(C) ww& & &=
(D) Tie aTel ¥ T

S-S g 8 oAr- @ fa sfem
wria g |

(A) 79 @ 9 A gr @

(B) TF=1 F1 UTTd Tl F9Y B AT
(C) T &1 g9 Ul &1 ui

(D) T 3 o, { IR-9R
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Read the following Instructions carefully :

Frafafaa Adal & aos @ ol -

1. Out of the four allernatives for each question, only

one circle for the correct answer is 1o be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheel. The answer once marked is not liable
to be changed

The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
clse except in the specified space in the Answer Sheet,
. Handle the Test Dooklet and Answer Sheet with care,
as under no circumstances {except for discrepancy in
Test Booklet), another set will be provided.

The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet.

Each candidate must show on demand his / her Admit
Card to the Invigilator

No candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
scal.

. The candidates should not leave the Examination Hall
without handing over their Answer Sheet 1o the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not to
have handed over the Answer Sheet and dealt with as
an unfair means case.

Use of Pencil/Electronic/Manual Calculator is
prohibited.

. The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall: All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission.

10. After Examination is over, candidate has to retu-n his

Answer Sheet to invigilator, Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed o leave the examination hall.
Candidate is onfy allowed to take Candidate’s copy of
answer sheet. 3

11. Candidstes are not allowed to take Test Booklet with
them. They have to submit the Test Booklet to the

Invigilator after the exam.
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«. TR R § & R oden gRaw

. We® ueA & faw e 1 ar et 4 |
uH 9T & fav o o 4R 9T 99 W
Had U M B § g e I a9 uige
U 9 W | UF g IR aifa fhr o @
1% I qaAT T8 W HHaT 2|
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ford |
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198 & Suvia gdharelf st gde gRas
& ydE® & wtert goft) o
qftaer s gfeefl s wer 98 Q@
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